NSRS IO

ISEASIRI

HIAGWNN ONIMMYTHC

VIUSSNNIN SdUH AN e

SION000d 00Iva

HIBNNN ONIMYHO

VLIOSINNIN "3ed0H M3N @

SLIN00Hd QI4Vs

VLIOSINNIA "3doH MIN e

HI8NNN ONIMYHO

17M

o
2’ @450 F.
Railing F . #15/8" 90° F, » -
ailing Face See Befit 22-0" 22'-0" : L ¢
Slope Break Line B / Q{SOF. Bolt/Detail e > See Sheet |© for Details § ;
Gutter Line =— Gutter Line Crown Break £ Roadway Gutter Line —= .
See Detail "D " ITOD of Expansion Device
- / o : . ) § X '
S %I /l \71 7, y Traffic 1 T r T 1 f | T 12
</ y * | . . 1/2" dia, x 6" long bent 12
A / . 4" 1' 6" Max. Sps.|9'"|9""|1' 6" Max. Sps.[1'6"|1' 6" Max. Sps.] 1' 6" | 1' 6" Max. Sps. Anchorage @ bott @ I’ 0" na g ber
o Max. Max. Max. Spacings : maXx. spacing
o/ 7 In non traffic areas.
§ | Weld to expansion device,
\ ALTERNATE 1 ' SECTION B-B ) BENT BOLT DET
. A STRAIGHT EXPANSION DEVICE AlL
S\
4 2 2
a R ALTERNATE 2 &€ Cap Screw
¥ CURVED EXPANSION DEVICE y L .
S Edge of Plate — et ora L2 2
9 Crown Break @ 450 F.T@ 450 F.‘l I After assembly, field weld lugs on each
NV Foso f / | edge of Cap Screw only to prevent
) -3 turning. Cap Screw must be able to
AN slide along slot. ]
y Field Weld
) o 4 Chamfer , Crown Break. Weld
e 9 N Top of deck Bpansion Field it and Top K
e ield weld. ;3
™ 2- No. 4 Transverse Bars o 172" x 3" x 7-3/4" Plate Y 2 ( j\ " : E
o o — - PLAN g
A Z12"R. s ' ?“I Transverse Slab -
L < Reinforcement E <
A X 1-12" Cap Screw ~ 318" Plate DETAIL D SECTION E-E
arr—= )"
B £ S 12 Bit Felt
N J Position plate and bolit or equal NOTES:
PLAN VIEW AT EXPANSION DEVICE 518" dia. Rod anchoragein concrete 2" Jong hex nut Galvanize structural steel after fabrication as per
to allow 3/8" plate to with bent boft. Spec. 3394,
close completely. SECTION Joints in roadway plate or extrusion shall be located
DETAIL C at breaeki in transver's|ebepr;)ﬁle and ads otr'\:erdv!ise
required. Joints sha close fit and we
SEENEIFggAGl:-A SLOTTED HOLE & CAP SCREW Repair after welding as per Spec. 2471.3L
Structural steel shall comply with Spec, 3306,
Spec. 3307 & Spec. 3309,
Expansion device shall be straightened toa
tolerance of 1/8'" in 10 ft,
- 2" @450F, . @ 450 F, Cap screws shall be countersunk 1/16" below
. 178 — @ 90°F. ; ] top of plate. : -
— Plate to be recessed 1/4" , : 4
below face of barrier _ Blockout this area Galvanize screws and nuts as per Spe.c. 3392..
for anchorage - Typ. ; uperstrug:'t.ure sheets for expansion devi : %
1" dia. x_2"_long slotted \ : " aftern railing. :
z Y 1.1/ f 2 @459 € 3/4" dia. x 1" 1'"dia. x___ long slatt 0 . 2
f’ |°h'|‘9t Tvo] hole for 3/4 X 1-1/2' Csk. Cap| 4249 55 F o ¢sk. Cap Screw hole for 378" x 1-1/2" Csk. C 2 845°F. o When expansion™deyjces are us ends of ;
ex Nut (Typ. Screw wnth 2" long hex nut ) /f; 3 , Screw with 2" long hex nut \ S bridge, the bridge co shall furnish
and 3/4" dia. x-4" Bent Bolt @90°F. = See Expansion W dia y A" N - i :
Edge of block out Do not tighten dow ' 2" 5.] e and 3/4" dia. x 4" Bent Bolt. N & expansion device and-gfand, oadway
for installation of ignten aown cap screw. — Do not tighten down cap screw. \ — = [ Top of Curb contractor sh stall the part of
. , © " Max. 2"[2" y " nlon " expansion-dévice which includes
expansion device 1/4" Bevel N ﬁ.ﬁ&g.z.. ‘ /——2 Long hex nut 1/4" Bevel ~\ 6 Ma ' 3.4 2" Long hex nut glapeéds shown on this sheet, es the
G A ) K= . TR g 2 " P N K== vy B 3/8" x X Plate
> See Detail ''C " '\ Lo s 3/8"x 13 x 2-0 Plate See Detail ""C —_ N ' b .
Cut gland horizontal — o~ - \J\ | \\ e e \_'to be recessed 1/4" below ™ | \\ % / A Ato be recessed 1/4" below
as shown ' 1/2" Bit Felt | LIRS face of barrier 112" Bit Felt | §4 120 ! | L LA face of barrier.
<4 Tq) Of COnC- or equa' l ¢ h '—'{ ] ¥34 3/4“ d- " or ua' f — Al }ﬂ f ] f 3/4“ . "
4 O\/@rla N | ] ; | /r - - - ld. X 4 eq ‘\ || ; i /f _ dla. X 4 @ V . 18”t 2 "
=«,I 4 /’f R Bent Bolt (Typ.) ) /’: R Bent Bolt (Typ. ) aries 2o &
AY L \ . . . . ey
e t—— — , 4 Dimension along centerline of joint,
B ) " — Block out flared area as ———— .- = . R | 2 Block out flared area a e R 2 ’ 250 ,450
: f ' | N shown for gland installation ‘ __I_l’a_fﬂg 1 o shown for gland in Ilationfii;-;{ (3) For roadway skews over 25° use 45°,
S &l - Top of Conc. Overlay 5/8" max. when Snowplow Fingers are used. Use
Radial bend permitted s INSIDE ELEVATION | | INSIDE ELEVATION 1/8" with 1/4" max. ) when Snowplow Fingers
s are not used.
, 4" RAILING AT CURB TRANSITION Kecorp FPian OCr- 1993
] “"MODIFIED”
Gutter Line —
FIG. 5-397.627
SECTION Revised: October 15, 1982 Approved: July 16, 1982 :
TLE: DES: MnDOT | DREMnDOT/GLA | APPROVED: : :
e O e SP. 204-113-03 | WATERPROOF EXPASoN pevice |Sem e e 12 s ) IS |
| o WITHITYPE J BARRIER Sheet No. |5 of 24 Sheets| 71517
545 |||

SIonaOtd 004ve

TOSINNIN "3d0H MIN_ »

Gl
L6 SNIVIN

HIGWNNN OSNIMYHO




